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QUESTION BOOKLET
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1.  Which of the following has maximum genetic diversity in India ?

(A) Tea (B) Wheat - (C€) Teak (D) Mango

1 o o fopmeht sHfep Afaerar wra | wem 31fres 8 2

(A) 9= (B) g (C) @m= (D) ™

2. Which of the following is an edible fungi ?

(A) Rhizopus (B) Agarlcus (C) Penicillium (D) Mucor
= 9 9 39 @ T T whe 2.2

(A) TmE () UHHE  (C) OWRREE (D) mE

3.  Which of the following are intracellular obligate parasites ?

(A) Viruses (C) Sl ulds (D) Blue green algae
48 e84 3@ :
(A) feremoy : (D) - e
4.  ‘Club moss’ belongs t
(A) Algae (D) Bryophyta
“FAS HIE B -
(A) am (D) SRTHRLT
5. Male gamete in angiospermis
(A) Generative cell ) Microspore cell
(C) Vegetative cell (D). Tube cell
st H T FrHeh T 3ld &
(A) SFF HIRTHT g ) TSI ShITSTehT GRT

(C) Tmefs wfm g do it t(p)gmﬁmﬁh

6.  External fertilization occurs in majority of
(A) Algae (B) Fungi (C) Liverworts (D) Mosses
fopere srgaen sTed Fe=A gaT B 7
(A) I H (B) ®%aH (C) Tl =éd (D) wigd

7.  An algae which is rich in protein is

(A) Ulothrix (B) Spirogyra  (C) Nostoc (D) Chlorella
Teh JterTed o S AT | S I S § -

(A) JaAIw| (B) RN (C) Al (D) TR
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8.  Which of the following are likely to be present in deep sea water ?

(A) Eubacteria (B) Blue green algae
%—3,, Saprophytic fungl (D) Archaebacteria
T AT A=A el Sl I T qr ST /St 8 2

(A) FaFifen  (B) Ha-sladeami(C) gasiet whe (D) 3T Sfary

9. Dry indehiscent single-seeded fruit formed from bicarpellary syncarpous
inferior ovary is

%\) Berry (B) Cremoca (C) Caryopsis (D) Cypsella
Fredt TR ISR g I=h %l & -

A) =& (B) fermrepTd (C) wEifam (D) fagen
10. Smallest flower is

(A) Wolffia (B) Lotus (C) Rafflesia (D) Brassica

T B G 8

(A) Sfwan (B) &HA (C) T (D) STt
11. Intercalary meristem leads in

(A) Secondary growth (B) Primary growth

©) ARICEI] growth (D) Secondary thickening

[ryTside IRa a8
(A) fgdmmafg (B) mafiseafg () s afg (D) T Teman
12. Pear fruits are gritty due to the presence of
A) Sclerids (B) Fibres (C) Vessels (D) Tracheids
Sufexfa 3 T Arraret B feptfertr rat 2 2
(A) wRiftgs  (B) BRER(AG) (C) b (D) T (arfeie)

13. Which of the following amino acids is not optically active ?

Leucme B) Isoleucine (C) Valine (D) Glycine
ﬁ B @1 ufer uftre wepref |k 2l gar @ 2

(A) wgfe= (B) gdIcyfd (C) difer (D) Tesfém

14. B-oxidation of fatty acids occur in

(A) Peroxisomes (B) Mitochondria (C) Microsomes (D) Glyoxisomes

TfaE T B- BT R :

(A) Wfewds (B) #sehivgal (C) @gshi@™ (D) Tes3iiaEsiy
15. Site of gluconeogenesis is

(A) Glyoxisomes (B) Golgi bodies (C) Mitochondria (D) None of these

(A) SIS (B) Wetlish  (C) HscIhivgal (D) $TH 8 i3 &
16. Starch is a polymer of

(A) Maltose (B) Sucrose (C) Fructose (D) None of these

g (W) T Uil @ -

(A) ARSI H (B) gHH  (C) HRNH (D) TH I DR A8
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17.

18.

19.

20.

21.

22,

23.

24.

25.

Crossing over occurs during
(A) Diplotene  (B) Pachytene (C) Zygotene (D) None of these
St faf g 2

(A) Tgdg 3rae < guH (B) TEITE ST % G
(C) IHUE LT o G (D) 3T | HIE &
When a plant undergoes senescence, the nutrients may be

(A) Exported (B) Withdrawn éC) Translocated (D) None of these
TS UTEd ST ST 3T ed &, UINehatd & Tehd & :

A) frafa (B) 3mefa (C) WM (D) 398 ¥ IS &l

Water in the soil available to plants is

(A) Hygroscopic water (B) Gravitational water
(C) Capillary water (D) None of these
¥ (FeT) § I1edi ol T e & -

(A) AT (B) TEcaTRY A (C) SRR S@ (D) 30 A IS g1

The deficiency of which micro-nutrient results in little leaf disease ?

%-rrz' Iron (B) Boron (C) Zinc (D) Copper
T ¥ ford GEm -dIvehate <hl U} o SHRUT 775 - SHT et 7 2
(A) A=A (B) SR (C) e (D) IR
Which of the following is not an essential element for plants ?
%u:)y Aluminium (B) Co (C) Iron (D) Zinc
3 & I |1 T T 5 %vmaaﬁ%" .
(A) wegfafEm  (B) W (C) IH (D) T
Light reaction of photosynthesis occurs inside
(A) Stroma (B) Grana
(C) Endoplasmic reticulum (D) Cytoplasm
TehTI1—TICANUT <hl JehTS Sfeifsha fereeh et Bd & ?
(A) Hfget (gmr)(B) I (C) 3dget sfetsht (D) hifTepT-ge

In higher plants, the shape of the chloroplasts is
(A) Discoid (B) Cup shaped (C) Girdle shaped (D) Reticulate
3= ISl H, FARIARL T 3TTHR :

(A) Tfshepra (B) TYHIHR (C) ICIGIETN (D) JTefigr

In cellular respiration, the final acceptor molecule of proton is

(A) NAD (B) NADP (C) FAD (D) Oxygen
YA T, T ot 3ifam e 310 R -
(A) NAD (B) NADP (C) FAD (D) lerefiorH

In aerobic respiration, total number of ATP molecules formed from 1 glucose

molecule is
1Y Y8 H, Teh ToTehie 319 & FAfda ATP 37up3ti <hi el T & -
(A) 22 (B) 28 (C) 32 (D) 36
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26.

27.

28.

29.

30.

31.

32,

33.

Vernalization is done at

(A) Low light intensity (B) High light intensity

(C) Lower temperature (D) Higher temperature

TEATHT BIT &

(A) =1 senrer et W (B) 3= TehIY dilsidl W

(C) Tr=Tam o = (D) =Y ATIHH T

Bolting may be induced by

(AZ ) Cg;{o_dldnin %B) Auxin (C) Abscisic acid (D) Gibberellin
C _6% Hehdl & :

(A) AR R (B) ATfadH g

(C) ufeafess e gr (D) fosfem g

‘Banana’ is vegetatively propagated by

(A) Tubers (B) Rhizome (C) Bulbs (D) Suckers

el oI IFefcreh HeE Bl € : .
(A) Qg (B) UM gl (C) ¥edl gl (D) 3Td: &R g
The process of embryo formation without fertilisation is known as
A) Apospory (B) Apogamy  (C) Parthenocarpy (D) Polyembryony
3T THioT <1 SIfshRar shgad & -
(A) I (B) warrH (C) AR (D) WieTBr
Wind pollination is common in
(A) Orchids (B) Grasses (C) Lilies (D) Legumes
q TT9] 9T & -

(A) g o (B) u®@ (qM) H (C) feafers & (D) far&ft &

Down’s syndrome is due to

(A) Linkage (B) Sex linked inheritance
(C) Crossing over (D) Non-disjunction of chromosome
T3 T8I T R 7 : o
(A) HEHal (B) ifireh g=ImTla
(C) <= fafm= (D) TR 1 TR- e
Haemophilia is a
(A) Deficiency disorder (B) Y-linked disorder
(C) X-linked disorder (D) Autosomal sex disorder
Teh
(A) ruie fepfer (B) Y-Heer ferpid
(C) X-wEer fogpfa (D) srfermegt fea ferpfer
The first genetic material could be
(A) RNA (B) DNA (C) Protein (D) Carbohydrates
o S T B ekl § -
(A) RNA (B) DNA (C) IR (D) HETEESH
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34.

3s.

36.

37.

38.

39.

40.

41.

42.

mRNA directs the building of proteins through a sequence of

(A) Exons (B) Introns (C) Codons (D) Anticodons
<1 T @l G0 mRNA i fmivn ot Féem shaare |
(A) TR (B) M (C) wisH (D) TE-higH
Transposons are sequence of
z;mﬂ—ﬁm fopEreht S@et 87
(A) DNA (B) mRNA (C) tRNA (D) rRNA
Stanley Miller proposed origin of life by
(A) Chemical synthesis (B) Abiogenesis
©) Blogene51s (D) None of these
e 3 forees g Sita-3aata <1 gfaures femam ?
(A) THRI TIAT (B) TSTaTderH
(C) s (D) 3 AP T

Which one of the following is linked to evolution ?
%n:)y Extinction (B) Competition (C) Variations (D) Reproduction
T | T It b |1 HEARA & 2

(A) focH (B) wicreqet (C) foy=tam (D) ST

Homologous organs indicate

(A) Convergent evolution (B) Parallel evolution
(C) Common descendant (D)y*Natural selection
U 377 EITd &

(A) AER 3R (B) FHIR 3@ (C) \EHRI SR (D) Tehiceh =

Mammals evolved from

g:)rm]?{‘lqrﬁd?ﬁ . (B% :Reptil'es (©) Amphi.bians (D) No.ne of these
(A) foi By, W(B))ywIgaia (C) 3WEUE (D) FHHFE
YAC’ refers to

(A)/ Yeast artificial cell (B) Yeast artificial chromosome

(C)., Yeast artificial colony (D) None of these

YAQH

(A) e wﬁﬁs‘ﬁwa T (B) e FAEMBIERIEA i

(C) e omfefthfet shiam (D) T i Tl

The first human hormone produced by recombinant DNA technology is

(A) Insulin (B) Estrogen (C) Thyroxin (D) Progesterone
DNA @ehr1eh gRT fHftd Tesem qet gmH & -

(A) g (B) sHISH (C) YR—RT (D) JeRelA
‘Bt’ cotton is resistant to

(A) Insects (B) Herbicides (C) Salt (D) Draught
‘Bt’ hutd Ticieft & :

(A) HRU %A (B) IHRAS I (C) T 9d (D) Q@ & Ifd

7 Code No. : C-510/2018/Series-A



43. Which of the following is a partial root parasite ?
1&41:)( ﬁSgndal wood (B) Mlstletoe% (C) Orobanche (D) Ganoderma

& i | AT 59 ‘
(A) =ied (B) wiar (frEeel) (C) HAiseh (D) HreHl
44. Lichen is an example of
(A) Mutualism (B) Commensalism
(C) Predation (D) Competition
AT Ueh 3¢800T 3

(A) HRHITE & (B) T (C) wufaai®r (D) Sfoweaaf &

45. Decomposers are

(A) Autotrophs (B) Auto heterotrophs
C) Organotrophs (D) Heterotrophs
Eg

(A) Tt (B) TuRaTst (C) fiepurdt (D) ferwmadt

46. Energy flow in an ecosystem is
(A) Bidirectional (B) Unidirectional (C) All around (D) None of these
Teh UTHCATeeh! &1 T Shall a8 : ’
(A) feafrs (B) Thiesm  (C) &ftw® (D) 38 A g T

47. Which of the following is not an ex-situ conservation ?

(A) Cryopreservation (B) Seed bank
%_3—’ Bios here reserves (D) Botanical garden
jEI'IQEI% ex-situ’ EETIT TE 7 ? .
(A) ﬁmarwﬁww (B) YU &%
(C) Sarsd fiwd (D) TR feeh it
48. Red Data books are produced by
) IUCN (]2% (C) IBWL (D) None of these

(A) IUCN g (B) WWF g0 (C) IBWLEN (D) 394 ¥ IS T8
49. A mutagenic pollutant is

EA; Or%anophbosphates gB% Resins 4
C Hg rocarbons D) Nitrogen oxides

(A) mﬁﬁqﬁ@r{a (B) fyEC] (C) TEEIHEE (D) TT3aIoH JATFETES
50. Photo chemical smog is formed by
TS - T -Teh ST b 0T <1 hroT 3

(A) NO, (B) SO, (©) CO, (D) CO
51. Book lungs are respiratory organs in
(A) Cockroach (B)_Snail (C) Prawn (D) Scorpion
o o1 (TH BHe) I TR ? '
(A) foem=gr  (B) = (C) sffm (D) for=gg

Code No. : C-510/2018/Series-A 8



52.

53.

54.

33.

56.

57,

58.

59.

60.

Sea mouse belongs to which phylum ?
(A) Mollusca  (B) Arthropoda (C) Annclida (D) None of these
TG <IET fohd T9 | HeYd 8 ?

(A) Fewast  (B) @i (€) s (D) ¥ & HrE

Torsion is the characteristics of

(A) Gastropoda (B) Pelecypoda (C) Cephalopoda (D) Amphinura
fopereht eeaforeRar & 7

(A) T (B) WoEREE  (C) WhAMiE (D) TERU
The animal which has oval RBCs is

(A) Dog (B) Fish (C) Human (D) Camel
a8 IToft fSrerehl STTeT-Tar hiUTehl JTUSTehRR Bl 2 - ‘

(A) ¥@H (B) e (C) A= (D) 3¢
Earthworm has how many segments ?

U T fohd @UE BId § 2

(A) 85-400  (B) 100-200 (C) 20— 95 (D) 45— 120

The lining of intestine and kidneys in humans is
(A) Keratinized (B) Brush border (C) Ciliated (D) None of these

TSt H 3T AT gerh Shi elTsi el &
(A) Hfefra (B) g (C) uemmft (D) 34 ¥ I3 A&l
In Molluses, eye is present on a stalk, called
(A) Ommatophore(B) Osphradium (C) Operculum (D) Ostradium
, 9 U SEI T IUfEUd B1d &, HEelld & :
(A) AR (B) 3MEhfeam  (C) wae™ (D) 3fegfesm
What is number of spinal nerves in frog ?
(A) 8 pairs (B) 10 pairs (C) 11 pairs (D) 12 pairs
Tigeh § dfehT-dqail <l Eed fepe gl & 2
(A) 878 (B) 10%g (C) 11T (D) 125

In humans, peptic cells secrete

(A) HCI (B) Cholecystokinin

(C) Gastrin (D) None of these

TSI |, Ufceeh hif¥reh! |19 i &

(A) eI TS (B) AT

(€) e (D) T & HiE T

Secretion of pancreatic juice in humans is stimulated by

(A) Enterokinase (B) Enterogastron (C) Gastrin (D) None of these
RCRCICH

(A) TRUHES W (B) TUTH gRI(C) MEHA g (D) 398 & %18 78
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61.

62.

63.

64.

65.

66.

67.

68.

69.

In humans, respiration is controlled by

(A) Hypothalamus (B) Cerebellum

(C) Medula oblongata (D) Cerebrum
TS waEd A

(A) TTEIEATE G (B) & gRT

(C) Hgel AT T (D) &L g

During hibernation, frog respires through

(A) Gllls B) Lun% (C) Integument (D) Tympanum

(A) %mﬁam (B) ®HSI gl (C) FATEWIRI (D) Vg gHI

Pulmonary vein in humans carries

(A) Deoxygenated blood (B) Oxygenated blood
(C) Mixed blood (D) None of these
TS ot R e et R

(A) -3 T (B) 3ATfoRgST(d o

(C) fursr (D) T8 | H1S T

The vitamin which is essential for blood clotting is

(A) Vitamin A (B) VitaminB (C) Vitamin C (D) None of these
T ST o fT 3Te9aeh

(A) fefim-t  (B) fgafim-si  (C) faerfim-@t (D) s @ =E 7&

Average pH of human Urine is

HE 3 °h! 3719 pH 8

(A) 6.0 (B) 7.0 (C) 8.0 (D) 9.0

Human kidney is

(A) Metanephric (B) Mesonephric (C) Protonephric (D) Archinephric
(A) WeHfhs  (B) BNIMRR®  (C) WRHfR® (D) ik
Lower jaw of man is formed of

(A) Onebone (B) Twobones (C) Three bones (D) None of these
RS CRIRSECIET] :

(A) THARIH (B) AR & (C) o AR F1(D) 96 4 s 781

Number of cervical vertebral in mammals are

YT 4 Wi shieen] i g fehd Bidl 8 ?

(A) 7 (B) 8 (C) 6 (D) 12
Adaptation of colour vision is found in

(A) Mammals (B) Aves (C) Reptiles (D) All of these
T1 gf8 1 STgRet I STl &

(A) wHafEi A (B) Fclzrﬁﬁ (C) whgdid (D) FafiH

Code No. : C-510/2018/Series-A 10



70.

71.

72.

73.

74.

.

76.

7.

In human brain, corpus callosum connects

(A) Two optic lobes (B) Bone and muscle

(C) Two cerebral hemispheres (D) Two lobes of pituitary gland
7= H P AT &

(A) T g% et bl (B) AR o =g

(C) <1 ymfETssh TeTe o (D) oo wif¥ bt g1 wrferalt i

Which is not a symptom of hypothyroiditis ?

(A) Lethargy (B) Mental retardation

(C) Oedema (D) Rise in blood urca

ST FCUHAN F AT AN R .

(A) gt (B) #HfEsh Hear (C) % (D) T U e hr afg
Which hormone controls blood calcium level ?

(A) Glucagon B) Insulin (C) Parathormone (D) None of these
S T ETHH T - {101 T B 2

AL bl
(A) THAH (B) $9ieH (C) THemE (D) 370 8 IS &l
In malaria, the product released by mosquitoes into blood that causes chill and
fever is called
(A) Haematin
(C) Haemazoin

’s dots
in

H, 7=sti g @R BT &, eIl § :
(A) feafe (D) fegifae
Hybrid vigour is inducéd.by
(A) Clonal selection ng of plant

(C) Crossing differentiation
Hehl
(A) AR =
(C) < TeHl ol TehloT
Rhizobium is an example of
(A) Biofertilizer B) Biopesticide
D) None of these

(C)_ Symbiotic fungus _
Tt fhem sgEd &' d o i1 together ! , .
(A) Sa-3dw  (B) JAa-shleTsft (C) desiidl Bhe (D) 390 A HIE T

What is the mole fraction of the solute in a 1.0 m aqueous solution ?

1.0 m STt forer 8 et < 9iet a9t feraar g 2

(A) 1.77 (B) 0.0354 (C) 0.0177 (D) 0.177
A p-orbital can accommodate upto
(A) four electrons (B) six electrons

(C) two electrons with parallel spins (D) two electrons with opposite spins
Teh p-ehaeh HHTAITSIA i Tehell & §

(A) TRFIHRA (B) ©: FeagH

(C) T SoEH L oM 3 a1 (D) B ST faeg foF & a1y
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78. The first element of the rare earth metals is
(A) Lanthanum (B) Uranium (C) Actinium (D) Cerium
¥-¥ITq <1 JUH Tl &
(A) AL (B) Iifr=m (C) ufdefrm (D) afem

79. Which molecule has linear structure ?

fope 379] <t TtaHT W B & 2
(A) CO, (B) NO, (©) SO, (D) SiO,
80. Surface tension of a liquid does not depend on
(A) temperature (B) intermolecular forces
C) surface area (D) solute dissolved in liquid
39 %1 I8 TS AT T Ll §

(A) AWHW  (B) -3 5 (C) I8 &% (D) a0 § gfera foreid
81. Which of the following unit cells is the most unsymmetrical ?
%2’ Hexagonal (B) Monoclinic (C) Orthorhombic (D) Triclinic
Y I Hi 3TE HINTHNT STeafaes B & 2
(A) WeHE  (B) ThAE () WeEgdE (D) B

82. The total entropy change of a system and surroundings is positive for

(A) isochoric process (B) isobaric process
C) irreversible process (D). reversible process
%W%ﬁwﬁaw JTHATE ! HA Tt THEd ST BT & 7
(A) TEIRITH Tfsh (B) Hwerelt afsham
(C) STchHYTT fshan (D) IchuvitT gfshan
83. Which of the following is least likely to act as Lewis acid ?
ﬁﬂﬁﬁﬁﬁaﬁéﬁﬁﬂ%@ﬁw ST ST Shi THTEAT I & ?
(A) PF; (B) CO (C) BF; (D) F~
84. The oxidation number of Fe in Fe(CO)5 is
(A) 4 _ B) 2 (©) 10 (D) None of these
Fe(CO); H Fe i 3o T&T .
(A) 4 (B) 2 (©) 10 (D) ¥ 8
85. Hardness of water is due to which of the following pair of ions ?
(A) Ca?"and K* (B) Mg?"and K*
(C) Ca?" and Mg?* (D) Ba?'and Zn?*
1 1 fohT 3TE-S1S o 10T ST H el gl g ?
(A) Ca2tqarK* (B) Mgt qar K+
(C) CaZ™dm Mg2* (D) Ba?tqur ZnZ"
86. Which is maximum reactive towards water ?
I T % Ffe wEwm Rt 2 2 2
(A) Li (B) K (C) Na (D) Rb
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87.

88.

89.

90.

91.

92.

93.

The ability of a substance to exist in two or more crystalline forms is known as

(A) Isomerism
(C) Isomorphism

(B) Polyisomorphism
(D) Amorphism

Tore) el <hi @1 3reran 3fies fomect) Tl | Stfeae hl &mar el &

(A) GHTE=EAT

(B) SEwwTHfaH
Basicity of ortho phosphoric acid is
T -HEHIEh TRTE 6T arar &

(A) 2 (B) 3

The IUPAC name of CH;CHO is
(A) Acetaldehyde

(C) Formyl chloride

CH;CHO %1 [UPAC 7 &

(A) THterfeearse

(C) Wit FASS

The methyl group in benzene ring is
(A) ortho directing

(C) ortho and meta directing

SR o 3 Al T 2

(A) 3T i

(C) 3T AT HeT ¢fireh

(C) @wrhfash (D) 3fsheeat

©) 4 (D) 5

(B) Methylaldehyde
(D) Ethanal

(B) ufeefeegss
(D) T

(B) para directing
(D) ortho and para directing

(B) U efies
(D) 3Tt qur 9 ¢fven

Which of the following is not a common component of photochemical smog ?

(A) Ozone
(C) Peroxyacetyl nitrate

(B) Acrolein
(D) Chlorofluorocarbons

o= § 9 ShH 91 YT -TH ek TN 1 Ueh U< ol @ 2

(A) M
(C) UUeruferse r5ee
Dry ice is

(A) waterat0°C
(C) Solid NH;
ASh ‘_SW% % 3

(A) 0°CHLSA

(B) 3@ T3S

(B) Thietsd
(D) FARTRIBEH

(B) Solid Nitrogen
(D) Solid CO,

(C) 38 NH; (D) 318 CO,

5.85 g of NaCl is dissolved in water and the solution is made upto 0.5 litre. The

molarity of solution is

5.85 g NaC/ STet ® =iell it & a2 0.5 forex aeh foerem s simar 8 | faerem i

HieTdT foha- 2 7

(A) 1M (B) 2M

13

(C) 0.1M (D) 02 M
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94.

93.

96.

97.

98.

99.

100.

101.

Which of the following colloids cannot be coagulated easily ?

(A) Lycophobic colloids (B) Irreversible colloids
%—& Reversible colloids (D) None of these

T H D H] HIeTSS SATEHT & Thied &l ardl ? §
(A) ATFRIBIF HIATsS (B) 3IcshHufid hieiise
(C) IchUUIT HIcATES (D) $TH 915 &l

Which of the following is not an ore of magnesium ?
1&.11:)1 Carnallite  (B) Dolomite (C) Calamine (D) Sea water
i |1 Afifarm w1 3rreh T8 8 2

(A) HHEEEE  (B) SiAAMES (C) ShormTs (D) T S

Which of the following phosphorus is the most stable ?

(A) Red (B) White

%ﬂ% Black (D) All are equally stable
U i 1 BRI T TR 2

(A) o ;, (B) Hihe .

(C) hrel - (D) AN ETH ETH R R |

Colour of light absorbe Oy 1s

d by aqueous solution of

(A) orange red (D) violet

CuSO, = i

(A) T e (D) S

Which of the followi

%rq NH; (D) ethylene diamine
Y HH AT

(A) NH;
Allyl chloride on dehydroc

(A) propadiene (B) proj yiene ) (C) allyl alcohol (D) acetone
eﬁm;%aéﬁiwmqf\aa e e &
(A) SEE | (B) SR, (0 iR (D) o

The maj or productoé i[mgragigl (ﬁ plf%oé \gfthﬁogl}m} Pydromde and carbon

(D) sefifer srzufim

dioxide is
(A) benzoic acid (B) salicylaldehyde
C) salicylic acid (D) phthalic acid
f&q;ha T HTeH SEHATREE o T SR~ 5T i T 3G 2 -
(A) SSIIE TS (B) feramsetfcesrss
(C) Tfeamafes e (D) wifers Titrg
Oxygen atom in ether is
A) veryactive (B) replaceable (C) active (D) comparatively inert
TS T T 2

(A) Ffddlra (B) Sfaemag  (C) Gfsha (D) deTeHeh sk
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102.

103.

104.

10S.

106.

107.

108.

109.

Which of the following undergoes nitration reaction most readily ?

%n:)[ Benzene (B) Benzoic acid (C) Benzonitrile (D) Benzaldehyde
T W DI AP T H AT Tl haT AT & ?

(A) dfom (B) SSisFUfis (C) SSMmEfee (D) SenfesErEs

Which of the following cannot reduce Fehling solution ?

%; Formic acid (B) Acetic acid (C) Formaldehyde(D) Acetaldehyde
T ¥ S BEfoiT foeTae i 3T & &Ll ?

(A) ®itsh e  (B) THifch e (C) wmicsanss (D) THRICEass
Acid anhydrides on reaction with primary amines give

(A) amide (B) imide

(C) secondary amine (D) imine

TTTHeh T o |1 Tfafshan i T TfE TeegEed od &
(A) THTES (B) TEE (C) fgdrrsh uftm (D) s
Which of the following is classified as a condensation polymer ?

%r)-' Dacron ~ (B) Neoprene  (C) Teflon (D) Acrylonitrile
T E I H1 HE T o €9 § afiehd & ?

(A) S (B) Fanfim (C) <w (D) UfshaTHTSiee

What is teaching through deductive method ?

(A) From general to specific (B) From specific to general
C) From macro to micro (D) From easy to difficult

%!"TNT!W- Tty grT R Rr@T S & 2

(A) Tm= ¥ fafire 6w (B) fafyre & = it &

(C) T&d &Y hHl Th (D) TS U Hicd &l T

Theory of representative knowledge was accepted by

(A) Yoga (B) Samkhya

(C) Advaita Vedanta (D) All of these

ST S frgTd i Tl /™1 3

(A) I (B) WA GRI  (C) 3Fgd demd g (D) e @l

Which of the following is not the cordial principle of educational philosophy
of Tagore ?

(A) Freedom (B) Creative self—expression
%‘% Self-realisation (D) Active commumon
H ¥ S H1 AR 5 &1 g3 1 eyl g 78 & ?
(A) T (B) witfetes @-
(C) w@-3rpfa (D) @z wewTfirn
The school socialised the child by providing social control through ;
(A) social values (B) regulation  (C) rules (D) All of these

SR TTHTSTh fHEA0T T TS hieh Thol STeish ohl ATHTISh SHTAT & |
(A) "R gedt (B) Frmm (C) Toemi (D) g\t
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110. Which Article of the Constitution prohibits traffic in human beings and forced
labour ?
(A) Articlel9 (B) Article2l (C) Article23 (D) Article 28
WRATT AITE 1 i &1 3TTS¢ AT 1 SATIR AT SeITd 47 i Y T & 2

(A) IF=e 19 (B) ag=se2l  (C) igwse23 (D) 3=k 28

111. SI Model of Intelligence was given by
(A) Freeman (B) Alfred Binet (C) J.P. Guilford (D) Thorndike

gfgman =1 SI diee feam mam o -
(A) HIETH (B) s T (C) 9. freiwe v (D) YHSES

112. Motivation results in

(A) goal directed behaviour (B) undirected behaviour

(C) excited behaviour (D) problem solving behaviour
SIROTT TROTTE B 2 -

(A) <& FGRa =R | (B) fesnfed syarer #

(C) 3o =eER o (D) T el Sagr °

113. The National Institute for Orthographically Handicapped is located at
(A) Kolkata (B) Dehradun  (C) Hyderabad (D) Mumbai
T feeamT (STfTThehct! §2iohe) TP TEAH hal Jafed 87
(A) Wieh@r  (B) <@l (C) 2eueTg (D) w3

114. Which of the following is not a personality trait ?
(A) Intelligence (B) Interest (C) Emotionality (D) Honesty
=1 5 & 7 =afaaca foemwe @i 2 2

(A) Sfgmar (B) @ (C) wigHar (D) WO
115. Who is the best motivator at school ?

(A) The class teacher (B) The Headmaster

(C) The subject teacher (D) The class fellows

e 1 39 S B 0

(A) T fyegs  (B) ygHteA™s  (C) fowa foiess (D) ani-urdt
116. The consistency of evaluation results is measured by

(A) reliability  (B) objectivity (C) predictability (D) usability

HoATeh- qOTTHT 3hT FdadT 19 ST & -

(A) foraeriear gr (B) 3ewIAI g

(C) wfersgamofi gra (D) TR g
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117. Who recommended a ‘National System of Education’ ?
(A) National Policy on Education, 1986
(B) IGNOU
(C) National Council for Teacher Education
(D) Kothari Commission

“Tregur <6t T SoTTed!” Shi STgERN foRe i 2

(A) Tarem <t T +fifa, 1986 (B) 3

(C) Tarerers farem g ufteg (D) ISR it (3TT=)
118. The main aim of teaching is

(A) to develop only reasoning (B) to develop only thinking

(C) both (A) and (B) (D) to give information

T 1 &I 29 § - .

(A) hered b T feehrd (B) haet feram =t faepm

(C) (A) 7 (B) Gl (D) ST &
119. Which domain focusses on feelings, attitudes and values ?

(A) Cognitive domain (B) Psychomotor domain

(C) Affective domain ' (D) None of these

T IHTSE A1 ? ’

(A) FHTIHES (D) T & HIE T&
120. Who was the chairthan 1 |

(A) Michael Sadlegt™ _ m Hunter

(C) Lord Ripon &9 alhousie

e
(A) HTEHeT Bl (D) WIS Sergwl

121. Educational technology includes

(A) Hardware approac |

<

Software approach

C) Both (A) and ﬁB) (D) N f th
{%"gzm 0 %an € vone 0 Vese
(A) BTSeeR AR (B) m 34?_?
(C) (AT (B .» : (D :
122. The element of ‘[te?gginz ng)gz:l {SJ[ to ﬁe ther ™
(A) syntax (B) focus (C) social system (D) All of these
AT HieH 1 < &

(A) oo fq=mE  (B) ehgl (Biehd) (C) HMITSTeh e (D) I8 @it
123. According to Freud, super ego is properly developed during

(A) latency period (B) anal period
(C) phallic period (D) None of these
s-blqs%; IR, T 39 S 3k | forenferd giar 2

(A) wgfer 3rere (B) T T
(C) iR raeen (D) S H g &l
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124.

125.

126.

127.

128.

129.

130.

131.

Taxonomy of teacher behaviour is developed by

(A) workshop (B) refresher course
C) simulated training (D) micro-teaching
&1eh SIFER fehtvl fehld BIaT &
(A) -39 g (B) foker = gr
(C) ITTEHYT T gRT (D) Y&H-FLAYA gl

Programmed learning is based on the principles of
(A) Conditioned Learning Theory (B) Cognitive Learning Theory

C) Gestalt Learning Theory (D) Operant Conditioning
Il W IENA B ?
(A) ITTHleTd e e (B) FHTcHe Tferm il
(C) T=Tee At et (D) WfshT 3TheH
Which was the principal item of food of the people in Indus valley ?
%) Wheat (B) Barley (C) Rice (D) None of these
14 ETET o AT oh WIS H Y@ <l o1 off 2 '

(A) T (B) (C) = (D) &8 & i T

The Magadhan empire came into prominence under
A) Bindusara  (B) Ajatashatru (C) Bimbisara (D) Mahakashap
SITEH H H1T HIHTSE Yo § 370017 .
(A) foigar (B) smmaey  (C) fafemr (D) HETshEd
Who among the following was not a famous Buddhist scholar of the Gupta
period ?

%n:)[ Asanga % Vasubandhu (C) Dlgnaga (D) Siddhasena
H Y I e et H SiHg st ferg T 9
(A) ITETM (B) a@rg (C) ﬁﬂm (D) Frgad

Who was the greatest of the Chalukya rulers ?

(A) Pulakeshin-I (B) Pulakeshin-II (C) Kirtivarman (D) None of these
EINER Y TEH i AT 2 ‘

(A) TTHIRH 9H (B) JoTehRH fgdi@(C) Hifder (D) 398 4 I8 a1
Brihatkatha-kosh is written by

(A) Kalhana (B) Harlsena (C) Banabhatta (D) Bhaskara-II
TEAehT I ferereh gry foran ma o ?

(A) hegdl (B) @@ (C) g (D) wresht fedt=
The title of ‘Sikandar-i-Sani’ was adopted by

(A) Jalaluddin Khalji (B) Alauddin Khalji

(C) Firzo Shah Tughlaq (D) Muhammad-bin-Tughlaq
Taehet-T-ar 1 TeRETeh GIRT TROT TohalT TT3IT T ?

(A) STATEM Eersit (B) 3IAISEM Wit

(C) TS 31T qrereh (D) HerHe-Ts-qersh
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132.

133.

134.

135.

136.

137.

138.

Which battle did not take place in the reign of Babur ?

(A) First battle of Panipat (B) Second battle of Panipat
(C) Battle of Khanua (D) Battle of Ghaghra

& o SEH | S 91 5 (ASTE) el goT & ?

(A) THIUA T TUH TSTS (B) urda 6 fgefiar oterg
(C) T HI IS (D) == g4

The British General who defeated Tantia Tope and Rani Jhansi in Central India was
(A) HughRose (B) Havelock  (C) Campbell (D) W.N.Russel
e YA H qTeat I a7 St =it T 31 50 are fsrdier St o

(A) gUS (B) &aclish (C) SHed (D) T&H.TH. A

The most earthquake prone area in India is

(A) Kashmir valley (B) Himalayan region and its foothills
(C) Coromandel Coast region (D) All of these

YA <1 T TTe1h Yehd YT &1 & :

(A) HIUR =TT (B) Teuter &= qen 39! derard!

(C) HRHUSH TG &= (D) g @t

Tornadoes which form at sea are called

(A) Water spouts (B) Squalls

(C) Thunderstorms (D) All of these

g W & dTet TRAST (SeX) 1 had & -

(A) STeTe™ (B) T&H (C) dfed-zm (D) F@a+f

Caribbean oceanic current belongs to
(A) Indian ocean (B) Atlantic ocean (C) Pacific ocean (D) Arctic ocean

e wgg- g Feifed @ -

(A) fee Hemmm (B) TEaAIfEH HEHNR
(C) =Id HEENR (D) 3ATehfeeh HEETR
The ‘Juma’ tribe is found in

(A) Amazon Basin (B) Congo basin
(C) China (D) Kenya

ST SSATfel T8 STt &

(A) IUSHACH A (B) HiMAeHA (C) I H (D) = o

Grasslands in Brazil are known as
(A) Campos (B) Pampas (C) Steppes (D) None of these
(A) HET (B) Y™ (C) =dist (D) T4 & i3 &l
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139.

140.

141.

142.

143.

144.

145.

146.

Gulf of Mannar 1s famous for

(A) fishing (B) prawn fishing (C) pearl fishing (D) None of these
TR <hl @Te 2

(A) w5 gehed o forg (B) i weheH o feTg

(C) el 3TH %t o fer (D) 3 & H1S el

Which of the following forms the north eastern edge of the Chhotanagpur
Plateau ?

(A) Parasnath Hills (B) Rajmahal Hills
(C) Mikir Hills (D) Javadi Hills
BT TSR ohl ITR-Jell B T AT Ll & :
(A) TREATY veTfeat (B) TsHeEd TaTreal
(C) farfept warfeat (D) STt TRt
In which of the following districts of Maharashtra does Godavari river rise ?
%1—2; Ahmedn ar (B) Nasik (C) Ratnagiri (D) Latur
fepg 57t & Tirerert 7t 3wt 2 2

(A) eﬂsm (B) i (C) it (D) @
Which of the following cities in India has a modest temperature throughout the
ear ?
yA) Patna_ g?) Dehradun  (C) Bengaluru (D) Allahabad
T I o fohE FTETH QA Hford AT Tl @ 2
(A) W& (B) cewed (€) TgE (D) STTETEG
Which of the following canals is not a perennial canal ?
(A) Sir Hind canal (B) Bhakra canal
g_jg' Bikaner canal . (D) None of these
T H i H Tet TEHTE TE B 2
(A) i (B) wwwAe  (O) fedmTm (D) FHABR T
The Diesel Locomotive Engines are manufactured at
(A) Varansi (B) Perambur (C) Chittaranjan (D) Jameshdpur
Eieit Srhmifed s9 ffifd 8id &
(A) IRERH  (B) WERH (C) FTmadE (D) TuRIgR H

Which of the following is not a cotton textile centre ?

%‘t' Modmagar (B) Kanpur (C) Kota (D) None of these
I T e JFITEA T (hg) TE B 2 .

(A) lﬂaw (B) HME (©) =& (D) & & HrE T

Which mirror is used as a shaving mirror ?

(A) Plane mirror (B) Convex mirror

(C) Concave mirror (D) None of these

I T gV SIET S T Jerd BT 8 2 .

(A) &HIA (B) 3 (C) FEdd (D) 34 | IS A&
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147.

148.

149.

150.

151.

152.

Which of the following schedules of the Constitution of India contains
provisions regarding anti-defection ?

(A) Fifth schedule (B) Seventh schedule

(C) Ninth schedule (D) Tenth schedule

WA EfaeT 1 fohe STEE 1 5 Seot folie 1 Y1ag™ & ?

(A) ur=dt (B) @radt (C) et (D) Tgdt

The Enforcement of Directive Principles of State Policy depends mostly on
(A) the courts

(B) an effective opposition in parliament

(C) resources available to the Government

(D) Public cooperation

T < Hifar-Trderes fogia oy s w1 fopa st shear 2 2

(A) =A™ (B) G H gurasiiet fae

(C) TTHR I YT T (D) SH-Tg9IRTar

Who of the following was a member of Rajya Sabha at the time of appointment
as Prime Minister ?

(A) Charan Singh (B) Indira Gandhi

(C) Lal Bahadur Shashtri (D) P.VeNarsimha Rao
o™ Hl % dR R I 8 o T9 i TS aaemEae oo ?
(A) =1 g (B) shCTSHE

(C) AT SRIGL St (D) i &, Tfwa e

The Governor is appointed by the

(A) Prime Minister. (B) President

(C) Chief Minister (D) Chief Justice of India
Tt <6 e g

(A) WIER T g (B) Tgufd gr

(C) T3 Ut gl (D) YT o G&F =Aef gra

If a Parichayat is dissolved, elections are to be held within
(A) 1 month (B) 3 months (C) 6 months (D) 1 year

afe = foafsia & st 2, @ ga o it 8H =feT |
(A) 1TT® (B) 3@ (C) 698 (D) 19§
Which five year plan is also called ‘Gadgil Yojana’ ?

(A) Third Five Year Plan (B) Fourth Five Year Plan
(C) Fifth Five Year Plan (D) None of these

S I TEa AT METe Are ot hEerd & 2

(A) Tt et AT (B) =g =i Aiemn
(OIRIEEIREELRRIEE (D) T ¥ HIg Tl
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153.

154.

155.

156.

157.

158.

159.

Which of the following includes bulk imports of the country ?

(A) Petroleum (B) Electrical Goods
(C) Non-electrical Machinery (D) Precious Stones
B () § e 37T § |iEeTd &

(A) U (B) Sciedishel AT
(C) M-oiadieher gefdt (D) =it Teer

In India inflation is measured by the

(A) CPI

(B) National Income Deflation

(C) Consumer Price Index for urban non-manual workers

(D) None of these

WA 8 geredhifer Tt et 2 -

(A) CPIgm

(B) THIE 31 FHEHITd g ‘

(C) T&dt TR-iftres SmeRi < foTu Iuvie qoot gaehieh

(D) 3T ¥ IS A&

If ASHA equals 79, then VINAY BUSHAN = ?

If ASHA % SRR 79, @ VINAY BUSHAN = ?

(A) 150 (B) 160 (C) 170 (D) 180

In a certain code, ‘STOVE’ is written as ‘FNBLK’ then how will ‘VOTES’ be
written in the same code ?

fopeft ffead e wIST o, ‘STOVE’ ! ‘FNBLK’ for@n mn 2, a1 3t e ® “VOTES’
fope SRRt ot S 2

(A) FLKBN  (B) LBNKF  (C) LKNBF (D) LNBKF

Minghal Fair is celebrated in which districts of Himachal Pradesh ?

(A) Chamba (B) Sirmaur (C) Mandi (D) Kullu

fenmeret wew o forw foret & fierer oo wamen ST 2 2

(A) =& (B) FwR (C) wuE (D) Tl

Demon (Rakshasa) dance is performed in which districts of Himachal Pradesh ?
(A) Lahaul & Spiti (B) Kinnaur

(C) Shimla (D) Una

TemTeer wew < ferw foret ® e o fopen ST & 2
(A) wrRa-wfifs (B) =it (C) Tamen (D) ST

Mahamaya Bala Sundri temple is located in which districts of Himachal
Pradesh ?

(A) Kullu (B) Kangra (C) Solan (D) Sirmaur
HEMT STl el Afey fenraet vem o forg fored o fera & 7
(A) Foal (B) hITel (C) dreH (D) famiR
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160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

‘Taragarh Palace’ is located in which districts of Himachal Pradesh ?

A) Kangra g\B) Bilaspur (C) Hamirpur (D) Mandi
e o Tohd T5et o ATnTe weel ?

(A) I (B) T (C) BHRY (D) HUel

Govindan Lakshmanan is associated with which sports ?

(A) Sprint ) Basketball (C) Badminton (D) Hockey
TMfeied ceruH %Héaﬁwﬁm%"

(A) d9TE (B) ST&hesid  (C) Ssfiued (D) gieht

Section 377 of the Indian Penal Code, which has been recently decriminalised
came into force in which year ?

W &€ Hfgar ohl hoH-377 ﬁiﬁméﬁm@ﬁm% e AT I T oft ?

(A) 1861 (B) 1872 (C) 1881 (D) 1892

Which of the following movies has became the first Bollywood film ever to
release in Saudi Arabia ?

(A) Pad Man (B) Raazi (C) Parmanu (D) Gold
=1 O 9 9wt fther ared) 3 # fiforst g4 areft wem sl fhew &+t 2
(A) U509 (B) Ui (C) (D) Ties

Who has been voted the most influential women in history as per the recent

Readers of BBC History Magazine Poll ?

(A) Florence Nightingale (B) Marie Curie

(C) Mother Teresa (D) Marilyn Monroe

%gc%@;mqwaamaaw sfrgT <l Tl wTERie B % fog
g i

(A) tﬁﬁamsaﬁna (B) T ==l (C) Tex & (D) Aftfer 7=

She takes pride her beauty.

(A) of (B) in (C) about (D) for
Antonym of the word ‘Ardent’ is

(A) eager (B) dispassionate (C) fierce (D) None of these
Meaning of the idiom ‘To Weather the storm’ is

(A) to face a crisis (B) to survive a crisis

(C) to be the victim of a crisis (D) to create crisis

I B @R H HHH 8

(A) *H (B) W (C) wHieH (D) i
e+ 5% =

(A) <3 (B) @5 (C) <= (D) <fes
ST HeAH Mg § - .

(A) T (B) frran (C) == (D) @
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KEY SET  C-510{TGT-MEDICAL (POST CODE-653)} SERIES-A

=1 wuig g et e @oh (Provisional Answer Key) f29f% 21.10.2018 @1 amaifrad TGT-
MEDICAL, POST CODE-653 @1 e+l yden ¥ wwafxe 8 | ufy opaftil &1 s Hl % Hed ¥
w1 amify 8, o ¥ fofya wnewt (Documentary proof) & W s wrafery # w@d @
official e-mail id: sssb-hp@nic.in = o amfern Wfa & waa €| sufera au svarE &)
srfeer fafdr 29.10.2018 &1 suferyi &st @ wwg ool wet gfr®t (Question Booklet) @ ¥réi
args gfire & |

1 D 35 A 69 D 103 B 137 A

2 B 36 A 70 C 104 A 138 A

3 A 37 G 71 D 105 A 139 C

4 B 38 e 72 C 106 A 140 B

5 A 39 B 73 C 107 D 141 B

6 A 40 B 74 C 108 C 142 C

7 D 41 A 75 A 109 D 143 D

8 D 42 A (o Iy C 144 A

9 D 43 A 11 C 145 D

10 A 44 A » 112 A 146 C

1 B 45 D 79 A A 147 D

12 A 46 B A 148 C

13 D 47 e C 149 B

14 D 48 A A 150 B

15 A 49 e || A 151 C

16 D 50 A - 8 5 152 A

17 B 51 D i C 153 A

18 B 52 A 1l 2 B 154 A

19 C 53 A 87 121 C 155 D

20 C 54 ’“B' ‘ 22 0B 156 B

21 A 55 1 (1 89 / ﬁ@a L | A 157 A

22 B 56 B ([ 9 [, P 124 B 158 B

23 A 57 LET|IS QP T PO FIEET b 159 D

24 A 58 B 92 D 126 B 160 A

25 D 59 D 93 D 127 C 161 A

26 C 60 D 94 C 128 D 162 A

27 D 61 C 95 C 129 B 163 D

28 B 62 C 96 C 130 B 164 B

29 C 63 B 97 A 131 B 165 B

30 B 64 D 98 e 132 B 166 B

31 D 65 A 99 A 133 A 167 B

32 C 66 A 100 C 134 B 168 D

33 A 67 A 101 D 135 A 169 C

34 c 68 A 102 A 136 B 170 A
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